Adigro] 39l 4=¢} 9 HT 211, 90|51l A4 Fo| A YPognE
7 e "ol Q= A& Fohoiel

ddigte] 391 & -3, 3012

—9HT} 33, 90l5lQl 5= -8, -7, -6, -5, —4, -3, -
2,-1,0, 1,2, 3,4, 5,6, 7, 8 90|22 ¥ o2 0H 7 He
EolA e A2 Adgte] 7P 2 9 ot




T2 A9 B HYS 21, A= B R 8 WHE At A 9 e
AupQlz] Ftoto]zt,

> E:

> = -4

|Al=1Bl, A=B-8
. A=-4, B=4




(@ 7ha B 970 9 Ao B8 vhebd o, (a8 < o < [ 2
H:9] A48 Totolel
> o
> ®eg o A
B
48 <5< | 2] A4
-4.8] = =5 {? _golmz




“ng aw D ue 2o g5l A58 Fotoler

L =883 O)HR F 5 Ajole] A4k

-, +3 912 7jo|tt.







